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— wnn 173 DITA KD AR 12710 929
3311’ 929 said that an adult does not mean an actual adult

OVERVIEW

The &n3 concluded that (even) according to 01 " PXmw there is no 737
XNRTA JUPY, but rather only 1312777 and the 0°m2n nipn was that the nX°x¥n of
a up belongs to his father because vax H¥X 1x°n AX¥MW nywa. This rule
applies by all 2°1vp even if 172K W ¥ 710 11X, However 131> ' disagrees
and maintains that the term Jup in the 73Wn means 2R J2W Y 7110 and even
if he is a 7173 his nX°¥» belongs to his father, and 7173 means 7?72 ¥ 7110 1R
12X and his X%, even if he is a jvp, belongs to him. Md01n extends this
npI7nna to the 7awn in 1°217°Y which also deals with 9173 J0p.

— 2)75¥ 523 393 199 NN YT 5357 53 0N 1% YWAIN
n'"+9 explained that just as 11 " and YXmw argue here regarding axo¥»,

they also argue regarding 21y -
=N 192 27T HY ONY NI (a1 Hnnnn M7 oW 2,08 97 PP PIIN P PINT

For we learnt in a maw» in 1¥r P9 that the one who is setting aside the
17y (for MR "mnw, etc.), is 79t the food of the "y to the other

people in the 72 through his son and daughter who are o°73,” but not if they
are 0°I0p -

! 5%mw maintains (according to the Xin of our 71wn) that the nX°¥n of a Jup [whether he is 172K 2w ¥ 710
or not] belongs to his father, while the n&°¥n of a 2173 [whether or not he is 12 121 v 71m0] belongs to the
2173, However 7301 'Y maintains that it depends whether he is 1R 79w ¥ 7110 then the a%°%n belongs to the
father [regardless whether the son is a 973 or a jup], and when he is ¥ax 72w %Y w0 11°X then the nX°%n
always belongs to the son [even if he is a 10p].

* The houses were set up in a manner that a group of houses opened into one courtyard (a 2%r). These
courtyards opened into a M2n (alley way or small street) while the 12 opened into a 7", Each %1, as well
as each "1an, is a *"in for it is surrounded by proper Nx°nn, and XN»MX7A one is permitted to carry within
the 7x¥n1 as well as within the »12n. However the o3 were jpnn that one should not carry from his private
house into the more public 777 (or "12) or within the 7% or "127, unless the dwellers of the 711 and/or the
127 make an M%7 "7 (to permit carrying within a 7Xm) or a MR *21N°W (to permit carrying within the
entire "12n). The NX12n *01N°w was done by one person who was 77211 food in his house to all the dwellers of
this 127, so that they all have food in one house and this permits them to carry in the entire *127. See later in
this M50 what the 217°¥ actually accomplishes.

? One cannot simply grant his possessions to another by merely stating ‘I am giving that item to you’. There
must be some 1°1p to effect this transaction. One way is by giving the item to a third party and this third
party acquires the item on behalf of the recipient and thus the ownership is transferred to the recipient.
Similarly by a nwan 90w, the food in the house of the one making the '217°¥' is acquired by all the
dwellers of the "an through this 11p, whereby the owner is 7571 some food to all of them through this third
party. He cannot use however his 0°10pi7 112 as the third party for since 17°2 77° there is no outside third
party to make the 7°1p effective. See n"1 in the first 7"7 of this nwon.
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— AN T 177 NN 1N 2192Y %2) ) ONN YNN JOP NIN 9IRT ININIYYD)
So according to »8y2w who maintains here in our 7i1wn that Jop means Jup
wxn (even if he is not 1ax 2w v 7n0), there too by 2179w, a jupP who is
not 1"ax W Y 71M0, cannot be 7199 the 217°Y on behalf of the others, since

his ‘hand’ is like his father’s ‘hand’, for -
—*15aNY 1PNAT Y PAA XN AN INNISNT 119D

Since his 78°3% belongs to his father (as stated in our 7iwn), the same

applies to all his acquisitions that they belong to his father. Therefore the
father cannot be 1512 the 217°¥ through his Jup 13, even if he is not 12K W ¥ 0.

The 71wn in 217°Y mentions that he can be 71217 through his 7°72v7 7ax:
— MIVIND NN NANIYNT NA1PPA NIt “HIVD NONY 99 5Y AN 129297 NN

And regarding the 592w 7R, even though she is a mup, she can be 2
in this 2v9% for the others from her master, since her 1X°2%» does not
belong to her master as stated in our 7w, that 377w 17X 77 0772v7 NADYY 172 NROXA.

Mmoo anticipates a difficulty:
— (RIX 9NHNN N7 OV 3,70 97 PV TAPNN P NPY X HNMWT 2) by 9N

Even though X maintains in %apn:7 a5 that -

— ©YINNY N9 1N MISYY NN YOP
A jvp can acquire for himself, but he cannot acquire for others; so how
can the X who is a 71vp acquire the 217y for the others?!

mooIn responds:
— 61)2‘1‘1 PINIAN 2DINY INY ONN NWN NN

For the X 3 there (in 70’2 No0n) answers that NN "o is different

since it 1s only 33397R. Therefore even though ordinarily a Jvp cannot be 2™nx> 7211,
however, since the 11p is merely required 7112777, the 13127 enacted that the v should be
able to be oM™ the 211 to others.”

MooIN anticipates a question:
— (JOP PNINA N1T 10V K01 97 PV ININISINY 91 P9 ININY 9INRT NN

And that which X2 ruled in ¥Ry 9% PAD -
— 10 11759353 NN ININ) 1957 DIV 9N N3 1937 DIVN “299981

* See “Thinking it over’ # 1 (&3).

> By definition an 7°12y:1 7 is a 73up; once she becomes a 7171 she is set free.

6 xn»MK7n one may carry in a *12n for it is a *";17, the obligation of making an 17V is only 712772

"It appears that one may be 7191 the 277 through a 1vp, provided it is not his son.

¥ This is regarding M%7 217y (and N2 *9N°w) where all the neighbors of the 2%n place bread in one
house and are thereby permitted to carry in the 1%m.
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That the effectiveness of 3179 is because it is considered a 1%17;° and K39
rules that its effectiveness is because it is considered a dwelling;"° and the
X3 there states that the difference between the rulings of PXmw and X237 is

regarding a “Jup, which would indicate that a Jvp cannot be 73m, and this would
contradict what n1901n stated previously that a jup can be 7731 by an 217°v!

mooIn responds:
— Zannm 1099 153 195 HHNRT OND ININ 19929 YD XA

But the 1'% explained there that when the X773 said jop 172 RN it

meant in a case where the Ju? has a house -
— 11997 1INV 299 219531 N2 1INY YWY /Y9 ¥IT99 ND)

And not like s'"w9 explanation that the v cannot collect the 219,
since he cannot be 1153, In fact the 0 can be 132772 2°AKRY Ao

This concludes the view of "Xmw regarding a jup by 217°Y. MdOIN continues now to
explain the view of 1171 .
— UMN DY) DY RD 9NT 1IN 2290

And according to 31 ' who maintains by 1x°x» that a 9173 does not

merely mean an actual adult, but rather one who is not 1ax 9w Sy 7o -
— Prrqan 1NN N9 AR INIY Y TIND 19X JOPT 33 2190Y 5337 1510 XD

The same rule also applies regarding 2y9°y, namely that a Jup who is not
YaR R By 7o can be 1199 an 217°Y ([even] from his father) for others

just as an 71992Y;77 MR can be 791 for others from her master -
— DN IPN VAN INIY DY TIND 211N

But a 173 who is 2R 392 9 7m0 cannot be 7121 an 217y for others.

npoIn derives a 719777:
—9N9IYY TINDN 1IN 133 1 HY 219980 MY RIY 901Y 7098

° The owner of the house (where the bread is placed) consents to be 71pn (part of) his house to all the
neighbors, in return for the bread, which they place there. Therefore it is considered as if all the neighbors
live in one house and are therefore permitted to carry into [and in] the 7xr.

"It is considered as if all the neighbors live in this one house for their bread is there. A person considers
that he lives where his food is. There is however no 1°17 transaction.

Hsmpq explains there (X2°X 1"72, and see shortly in n1©01n here) that one of the neighbors made a jvp for a
7w to collect the bread from the others; if we assume that 3P 2Wwn 217°Y then it is ineffective since the jop
has no power to enact a 1Ip. However if it is 777 2wn then it is an effective 217"y, for the food of all the
dwellers is in the same house.

12 The 37173 XX is when the 217 is placed in the s'1vp house. If we assume 777 21Wwn 217°Y then it is an
effective 217°v. However if we assume 713p 0wn 217y, the jup does not have the power to be f1pn (his
house) on his own. He can be 71517 for others when the 73p» is an adult, but he cannot initiate a 7°3p.

5 The comparison to i1X is to indicate that even a jup can be 7217 the 217°Y for others.

3

TosfosInEnglish.com



1M1 a7 "7 '0In 2,20 A 7"

And therefore it is necessary to be careful not to be 72t the 2y

through one’s adult son, if the son is 7120 on 2y 72w -
— (3,10 0w YMINORINY 23 P99 IMINTI INIIY 223D 19NN 5395 19 NPT

For we have established that the 70%7 is like jam ' when he disputes

bXI1”W as the X3 states in FTIROTITW 91 PIs.
— “onsyb NN NIV 5Y 19II0T 22 HY X ©593¥0 INNOYI 1TaM

However, one’s Jewish slaves and maidservants even though they are

ur By 2110, their 837 belongs to them (and not to the master) -
— IIND P2 DT M1 KDY 299592 PPN 1)

And similarly they can be 71217 the 219 for others, for their ‘hand’ is not

like the master’s ‘hand’, even though they are 12w v 1>m0; the reason their
7X°¥n belongs to them even though they are IR W ¥ 09910 -
— 9NN 10399 XY AN 103997 XY DN 19950 1Y 1999W 1332 NIN NN 72°W XYY

For the concern of enmity is only applicable regarding one’s son, where
customarily the father continually feeds him and if the father will not

support him no one else will support him; therefore since the sole responsibility
of supporting the child is on the father, if the child will keep the nX>xn there will certainly
be enmity from the father to the child -

— 12 XYY’ DIN? 1D 0IN 193N NIV T TIND NPYYN 9NN DTN YaN

However another unrelated person who is supported by his friend for

free, for instance one who supports an orphan, or someone similar -
—19%2MY INNINN NANY N30 PN

There is no reason that the nx°x» of the dependent should belong to the

supporter -
— D99IN DN DNV H9VYAY NNNI 12y 19V D)

And how much more so is this true in the case of an 7Ry 72y (that their
master does not receive their 71X°%¥»), for in their case they are eating the
wages of their toil, and he is not supporting them for free."

mooIn distinguishes between a son and a daughter:
— 25N DIYM NPANY NNNOYN NYAN INTIY DY NDIND NN NIYI 1DPAN 1N

' Our 7w states this clearly. According to %X we understand why the 7x°3% of a 79w (even though she
is a 1wp) does not belong to her master, since when she picks it up she is not 7% » to her master. However
moon is explaining according to *"'7, why it does not belong to the master 72°X Dwwn.

' The concern of 72X regarding a son is that if the son keeps the iX*¥n, the father may stop supporting him;
however by 1nrowy 172y the master will not stop feeding them for he needs them to work for him. We are
also not concerned about a 77 (or 01°), for others will feed them (as opposed to a child who has a father).
Alternately feeding a 77 is not a common practice and so no 73pn was made regarding a 2.

' This would be true even according to 7X1w. See Mo on HXMY 7"7 'K Ty and 20 NIX 7"210.
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However regarding one’s daughter even if she is a 77v1 and not b¥ 17210

ARy, nevertheless her 8°3%» belongs to her father because of 7728
(according to °") -

— (W1 97 MmN NIYI P92 YINTI PHVY NI HNINIY N 901 *¥a INT
For if he wants he could deliver her to be married to a disgusting or

leprous person as the X713 states in ;7p1 p79."7
- 203’3’\:‘7 NYD 097 H99D2 NIINT NYIIvIa 19:1’3'\9‘1’ owvn ISW‘”Q\’J 1Y N9

But not like >''w9 who explained that the reason the X°¥» of a 77v1 belongs
2R, is because it is written $7vmWwia; this is incorrect for that P09 is

written regarding 25371 n9577 only -
— (3, 0v) NIY) P (owr 3, 97 PYITRT NNPP P99 NHIINTD

as is mentioned in the first P22 of PwY7>P noon and in 791 PAB.

mDoIN anticipates a question:
—NYya 195 N7 2) DY 9N 2319593 NI9TT INUNY

And regarding one’s wife who can be 721t the 21% for others, even

though that her ‘hand’ is like her husband’s ‘hand’; her nx°¥» belongs to
him, so why is she different than a J9p? M0 explains that the X713 -
— 92 NI %2 AY HONRYT (3,00 91 D97 9IDA 1Y YPIN

In the end of 23971 ndon establishes this ruling that an WX can be 7121 an

217y for her husband in a case where she has her own house in that 122,

therefore we say -
$9399NNRY 993 NPT DYDY NIITT T

That since she can acquire the 217V herself she can also acquire it for
others.”

SUMMARY

The same n17nn between X mw and 13m " regarding the rule of Jup NXR¥N
1KY (wWhere PX1W maintains that Jup means wan Jop even though he is not
IR W ¥ 7m0, and 11 " maintains that Jup means only if he is %y 7m0
1R W [even if he is a 2173], this same np12rn applies to the restriction of

7 If the ax°¥n of a 771 (even if she is not ax 7w 2y 701m0) would belong to her, her father may take
‘revenge’ and marry her off to a rw 7211 Pn.

'8 See *"wA on the 112 NX*¥H 7" MIWHI 'R 7M.

19 T’,b (mDD) 92772 at the end of 27171 DY reads; 7°aRk N°2 WA,

20 The father has the right to be 797 the 0°171 of his 77¥1 113, but we do not derive other laws from this p105.
2! The mwn in 2,u¥ P2V mentions that one can be 77211 the 217°Y through his wife.

22 However otherwise she cannot be 7317 the 117y for others as the X032 states there in 2°72.
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not being able to be 7011 an 217°Y though a Jup 72. According to PX1W one
cannot be 71011 the 217°y through jup 12 even if he is not 12X 2w 2y 0.
An 7727 AR however can be 1721 for her master since her aX°¥n is hers
(and 217V is only 732771). According to °"1 (whose ruling is accepted 170979)
however, one cannot be 7121 the 217°Y even through 7173 112 if he is %y 7m0
2R W, But he can be 72m through his jup 32 if he is not W v 7m0
12X (since it 1s 112777). The concern of 72°X is (only) when it can lead to
negative consequences (for instance by a child), but not by a slave or a maid
(and also not by a stranger). The XX of a daughter belongs to her father
even when she is a 771 (and 772K J77W %Y 719120 PXR) since he can hurt her by
marrying her to a 121 P13, A woman can be 7191 the 217V for her husband
only if her own house is included in the 217°9 because of "1 7wWo17 *217 WA,

THINKING IT OVER

1. mooIn states that since the x°¥» of a JvP is 1R, similarly all his 2>m>r
are also ~12x%. Seemingly there is a difference; by ax*¥n it belongs to the
father since 1°a8 XX 17%°7n [or 72°X DWwn], however by 217°9 the 7 of the jup
should not be 2R 7°3, since the father wants that he should be 71517 the 2177V
to others?!**

2. Can an 7°02v7 79X be 119171 the 217°Y to others from her father?

3. If a father gives a mann to his son who is a Jup [or a YaR A7 ¥ 701 7173]
is the son 71977 or not?®

4. What would be a reason to disagree with M50 and maintain that this
NP2 between X1 and 1 ' (by X°¥n) does not apply to 217°y?

2 See footnote # 4.
24 See *"1 and »n MR "1,
2 See n mX 7"d0.
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